## **ROAD IMPROVEMENTS TO EMERSON STREET**

Meco, Inc.
(Bidder Name)

# BASE BID 'A' EMERSON STREET, CENTRAL BOULEVARD, AND RODGERS ROAD

ITEM No.	ITEM DESCRIPTION	LINUT	TOTAL	UNIT	TOTAL
1	CONSTRUCTION LAYOUT	UNIT	QUANTITY 1	PRICE \$ 4,500.00	\$ 4,500.00
2	INLET FILTER, TYPE 2, 4'X4'	UNIT	15	\$ 1,00	\$ 15.00
3	BREAKAWAY BARRICADE	UNIT	10	\$ 1.00	\$ 10.00
4	CONSTRUCTION SIGNS	SF	350	\$ 1.00	\$ 350.00
5	DRUM	UNIT	50	\$ 1.00	\$ 50.00
6	TRAFFIC CONE	UNIT	150	\$ 1.00	\$ 150.00
7	UNIFORM OFFICER	HOURS	40	\$105.00	\$4,200.00
8	ASPHALT PRICE ADJUSTMENT	DOLLARS	2,000	\$1.00	\$2,000.00
9	FUEL PRICE ADJUSTMENT	DOLLARS	2,000	\$1.00	\$2,000.00
10	CLEARING SITE	LS	1	\$12,025.25	\$ 12,025.25
11	EXCAVATION, UNCLASSIFIED	CY	100	\$ 0.01	\$ 1.00
12	HOT MIX ASPHALT PROFILE MILLING	SY	6,575	\$ 2.10	\$ 13,807.50
13	TACK COAT, 64-22	GAL	1,850	\$ 0.01	\$ 18.50
14	HMA 9.5M64 SURFACE COURSE, 2" THICK	TON	1,540	\$ 92.00	\$ 141,680.00
15	HMA 19M64 BASE COURSE, 2.5" THCIK	TON	55	\$ 85.00	\$ 4,675.00
16	HMA CRACK REPAIR, TYPE 1, (IF & WHERE)	LF	1,435	\$ 4.00	\$ 5,740.00
17	HMA CRACK REPAIR, TYPE 2, (IF & WHERE)	LF	490	\$ 5.00	\$ 2,450.00
18	BICYCLE SAFE GRATE	UNIT	14	\$ 300.00	\$ 4,200.00
19	DETECTABLE WARNING SURFACE	SF	144	\$ 50.00	\$ 7,200.00
20	CONCRETE SIDEWALK, 4" THICK	SY	145	\$ 120.00	\$ 17,400.00
21	6" X 8" X 18" CONCRETE VERTICAL CURB	LF	450	\$ 41.00	\$ 18,450.00
22	TRAFFIC MARKINGS, LINES, THERMOPLASTIC	SF	1,350	\$ 2.90	\$ 3,915.00
23	TRAFFIC STRIPING, LONG-LIFE, EPOXY RESIN 4"	LF	3,055	\$ 1.00	\$ 3,055.00
24	REGULATORY AND WARNING SIGNS, STOP SIGN	UNIT	10	\$ 300.00	\$ 3,000.00
25	RESET REGULATORY AND WARNING SIGNS	UNIT	2	\$ 170.00	\$ 340.00

26	RESET MANHOLE, SANITARY SEWER, USING EXISTING CASTING	UNIT	13	\$ 365,00	\$	4,745.00
27	RESET VALVE BOX, USING EXISTING CASTING	UNIT	12	\$ 5.00	\$	60.00
28	TOPSOILING SPREADING, 4" THICK	SY	255	\$ 10.00	\$	2,550.00
29	FERTILIZING AND SEEDING, TYPE G	SY	255	\$ 1.00	\$	255.00
30	STRAW MULCHING	SY	255	\$ 1.00	\$	255,00
					1	

\$259,097.25

WRITE TOTAL AMOUNT OF BASE BID 'A' (Items 1 through 30):

Two Hundred Fifty Nine Thousand Ninety Seven Dollars and Twenty Five Cents

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

hh

### **ROAD IMPROVEMENTS TO EMERSON STREET**

(Bidder Name)

#### ALTERNATE BID 'A' - PHILLIPS ROAD

ITEM No.	ITEM DESCRIPTION	UNIT	TOTAL QUANTITY		UNIT PRICE		TOTAL COST	
1	CONSTRUCTION LAYOUT	UNIT	1	\$	250.00	\$	250.00	
2	INLET FILTER, TYPE 2, 4'X4'	UNIT	4	\$	1.00	\$	4.00	
3	BREAKAWAY BARRICADE	UNIT	10	\$	1.00	\$	10.00	
4	CONSTRUCTION SIGNS	SF	350	\$	1.00	\$	350.00	
5	DRUM	UNIT	50	\$	1.00	\$	50.00	
6	TRAFFIC CONE	UNIT	150	\$	1.00	\$	150.00	
7	UNIFORM OFFICER	HOURS	16	\$105.00			\$1,680.00	
8	ASPHALT PRICE ADJUSTMENT	DOLLARS	500	\$1.00		\$500.00		
9	FUEL PRICE ADJUSTMENT	DOLLARS	500	\$1.00		\$500.00		
10	CLEARING SITE	LS	1	\$	650.00	\$	650.00	
11	EXCAVATION, UNCLASSIFIED	CY	100	\$	0.01	\$	1.00	
12	HOT MIX ASPHALT PROFILE MILLING	SY	1,950	\$	2.10	\$	4,095.00	
13	TACK COAT, 64-22	GAL	540	\$	0.01	\$	5.40	
14	HMA 9.5M64 SURFACE COURSE, 2" THICK	TON	475	\$	92.00	\$	43,700.00	
15	HMA CRACK REPAIR, TYPE 1, (IF & WHERE)	LF	600	\$	4.00	\$	2,400.00	
16	HMA CRACK REPAIR, TYPE 2, (IF & WHERE)	LF	60	\$	5.00	\$	300,00	
17	BICYCLE SAFE GRATE	UNIT	4	\$	300.00	\$	1,200.00	
18	RESET MANHOLE, SANITARY SEWER, USING EXISTING CASTING	UNIT	5	\$	365.00	\$	1,825.00	
19	RESET VALVE BOX, USING EXISTING CASTING	UNIT	1	\$	5.00	\$	5.00	

WRITE TOTAL AMOUNT OF ALTERNATE BID 'A' (Items 1 through 19):

\$ 57,675.40

Fifty Seven Thousand Six Hundred Seventy Five Dollars and Forty Cents

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

nn

### **ROAD IMPROVEMENTS TO EMERSON STREET**

(Bidder Name)

#### ALTERNATE BID 'B' - MASTERS ROAD

ITEM No.	ITEM DESCRIPTION	UNIT	TOTAL	UNIT PRICE		TOTAL COST
1	CONSTRUCTION LAYOUT	UNIT	1	\$ 250.00	\$	250.00
2	INLET FILTER, TYPE 2, 4'X4'	UNIT	2	\$ 1.00	\$	2.00
3	BREAKAWAY BARRICADE	UNIT	10	\$ 1.00	\$	10,00
4	CONSTRUCTION SIGNS	SF	350	\$ 1.00	\$	350.00
5	DRUM	UNIT	50	\$ 1.00	\$	50.00
6	TRAFFIC CONE	UNIT	150	\$ 1.00	\$	150.00
7	UNIFORM OFFICER	HOURS	16	\$105.00	\$1,680.00	
8	ASPHALT PRICE ADJUSTMENT	DOLLARS	1,000	\$1.00	\$1,000.00	
9	FUEL PRICE ADJUSTMENT	DOLLARS	1,000	\$1.00	\$1,000.00	
10	CLEARING SITE	LS	1	\$ 550.00	\$	550.00
11	EXCAVATION, UNCLASSIFIED	CY	100	\$ 0.01	\$	1.00
12	HOT MIX ASPHALT PROFILE MILLING	SY	1,345	\$ 2.10	\$	2,824.50
13	TACK COAT, 64-22	GAL	260	\$ 0.01	\$	2.60
14	HMA 9.5M64 SURFACE COURSE, 2" THICK	TON	230	\$ 92.00	\$	21,160.00
15	HMA CRACK REPAIR, TYPE 1, (IF & WHERE)	LF	390	\$ 4.00	\$	1,560.00
16	HMA CRACK REPAIR, TYPE 2, (IF & WHERE)	LF	60	\$ 5.00	\$	300.00
17	BICYCLE SAFE GRATE	UNIT	2	\$ 300.00	\$	600.00
18	RESET MANHOLE, SANITARY SEWER, USING EXISTING CASTING	UNIT	3	\$ 365,00	\$	1,095.00
					Ι σ	32 585 10

32,585.10

WRITE TOTAL AMOUNT OF ALTERNATE BID 'B' (Items 1 through 18):

Thirty Two Thousand Five Hundred Eighty Five Dollars and Ten Cents

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

hm

## **ROAD IMPROVEMENTS TO EMERSON STREET**

(Bidder Name)

# ALTERNATE BID 'C' - GRAHAM COURT, LODGE COURT, AND HANLEY COURT

ITEM No.	ITEM DESCRIPTION	UNIT	TOTAL	1	NIT RICE		TOTAL COST
1	CONSTRUCTION LAYOUT	UNIT	1	\$	250.00	\$	250.00
2	INLET FILTER, TYPE 2, 4'X4'	UNIT	3	\$	1.00	\$	3.00
3	BREAKAWAY BARRICADE	UNIT	10	\$	1.00	\$	10.00
4	CONSTRUCTION SIGNS	SF	350	\$	1.00	\$	350.00
5	DRUM	UNIT	50	\$	1.00	\$	50.00
6	TRAFFIC CONE	UNIT	150	\$	1.00	\$	150.00
7	UNIFORMED OFFICER	HOURS	16	\$105.00			\$1,680.00
8	ASPHALT PRICE ADJUSTMENT	DOLLARS	500	\$1.00			\$500.00
9	FUEL PRICE ADJUSTMENT	DOLLARS	500	\$1.00		\$500.00	
10	CLEARING SITE	LS	1	\$	500.00	\$	500.00
11	EXCAVATION, UNCLASSIFIED	CY	100	\$	0.01	\$	1.00
12	HOT MIX ASPHALT PROFILE MILLING	SY	1,410	\$	2.10	\$	2,961.00
13	TACK COAT, 64-22	GAL	575	\$	0.01	\$	5.75
14	HMA 9.5M64 SURFACE COURSE, 2" THICK	TON	500	\$	92,00	\$	46,000.00
15	HMA CRACK REPAIR, TYPE 1, (IF & WHERE)	LF	615	\$	4.00	\$	2,460.00
16	HMA CRACK REPAIR, TYPE 2, (IF & WHERE)	LF	220	\$	5.00	\$	1,100.00
17	BICYCLE SAFE GRATE	UNIT	3	\$	300.00	\$	900.00
18	RESET MANHOLE, SANITARY SEWER, USING EXISTING CASTING	UNIT	3	\$	365,00	\$	1,095.00

\$ 58,515.75

WRITE TOTAL AMOUNT OF ALTERNATE BID 'C' (Items 1 through 18):

Fifty Eight Thousand Five Hundred Fifteen Dollars and Seventy Five Cents

NOTE: This is a unit price bid. The unit price provided for each item is representative of the Bidder's intent. The total bid amount is the correct sum of the unit price bid multiplied by the bid quantity. Errors by the Bidder in determining the bid amount for an item or the correct total bid amount or in expressing the correct total bid amount in words will be corrected by the Engineer or the Owner.

By initialing here, the Bidder hereby represents and warrants that the above **BID PROPOSAL** is complete and accurate:

nn